Suma de Digitos
Costo de
adquisicion
60.000.000

Gto Dep. =

Anio 1
gasto
depreciacion

(N*(N+1))/2
10

Registros Contables.

. Aumentos o
Fecha

disminuciones

30-dic

Valor residual

180.000

(C.A -VR)* (N-J+1)/S

Ario 2

17.946.000

Aro |

Nombre de la cuenta

Gasto depreciacion

Vida qtil

4

Valor

Aumenta

Depreciacion
Acumulada

Método de Actividad

Costo de
adquisicion
60.000.000

Valor residual

Produduccién Total
Produccion

Gto Dep. =
Afio 1

gasto
depreciacion

Registros Contables.

Aumentos o
disminuciones

Aumenta
30-dic

(C.A -VR)*(U.P.A/N.T.A)

Ano 2

17.447.500

Ano 1

Nombre de la cuenta

Gasto depreciacion

Unidades
Afio 3
20.000

Afio 3

Afio 4
10.000

Ano 4

Depreciacion
Acumulada




